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01 =2Uioibl 4,860 4,860 0
OMHLAR = 4,860
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03 AIBZZHREZAY| 500 500 0
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= 4,818
= 1,445
2 3,374
402 AT RO 9,637 7,000 2,637
2 4,818
= 1,445
2 3,374
02 QI2HCHEHAMRLH] 9,637 7,000 2,637
OMGHH IR HEFA L HI (16294 7) 9,637
2 4,818
= 1,445
2 3,374
Ss0| etMAId &X 5,232 5,336 A 104
2 2,616
& 785
2 1,831
206 M=l 5,232 5,336 A104
2 2,616
= 785
2 1,831
01 &bl 5,232 5,336 A104
S50 AHFEY &3 5,232
= 2,616
= 785
2 1,831
S=0| Q@22 15,000 0 15,000
401 Al&HIL 20| 15,000 0 15,000
01 Al4db| 15,000 0 15,000
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OS50 #X XE)| &X
1,000,008 * 1944 1,000
SEO0IAD Y AFEXE S 66,666 0 66,666
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02 QI2bOITHEH 2 A2 2,000 2,500 A500
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= 1,000
2 4,000
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= 6,600
2 204,058
oo 29 26,660 20,950 5,710
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Z: otdFHI
o2l StEEH ¥ FX2te (e E2
B . M. CHe (5 NEAY . B2 Al OH HEE Hl =2+
| = 3,600
X gotd gXl2el 92,000 166,000 AT4,000
& 46,000
= 46,000
401 AIEHIZ 20 92,000 166,000 AT4,000
& 46,000
= 46,000
01 Al&H| 92,000 164,810 AT2,810
OXgstd XA 92,000
= 46,000
= 46,000
== 2 HY| 7,500 7,500 0
401 AIEHIZ2OHb] 7,500 7,500 0
01 Al&H| 7,500 7,500 0
=M g 500,000& * 15JH & 7,500
A ota Fol 80,000 80,000 0
401 AIEHIZ 2 80,000 80,000 0
01 Al&HI 80,000 80,000 0
OXlgtotd oty 80,000
Xgotd a3 4,266,667 5,833,300 A 1,566,633
= 2,560,000
& 682,667
= 1,024,000
401 AIEHIZ 20 4,266,667 5,833,300 A 1,566,633
= 2,560,000
& 682,667
= 1,024,000
01 Al&HI 4,252,266 5,818,720 A 1,566,454
O=s&ld ot st 3,457,306
= 2,074,420
= 553,179
= 829,707
Odgd otes 794,960
= 476,976
& 127,194
= 190,790
03 AlE=20Hdl 14,401 14,580 A179
Os&& otz ANE2U8
3,466,667,000& * 0.27% 9,361
= 5,580
= 1,488
= 2,293
O8&d Stest3XE AlZ 20|
800,000,000& * 0.63% 5,040
= 3,024
= 806
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SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
[ ]| = 7210
£2 =#ux 7,585,951 6,173,596 1,412,355
3 747,000
= 6,021
2 6,832,930
2c =T 2,850,000 3,040,000 A 190,000
SY-FY 2 HEH 1,000,000 700,000 300,000
401 AEHIL2 ] 1,000,000 700,000 300,000
01 Al 993,700 695,590 298,110
OSY-FH 28 TF 993,700
03 Al& S CHY| 6,300 4,410 1,890
OS¥-HY2 2 T ALY
1,000,000,0002 * 0.63% 6,300
ZH-ZHYL PG HEH 300,000 500,000 200,000
401 AISHIL L] 300,000 500,000 200,000
01 Al 300,000 496,400 196,400
OZ®M-ZHZ 258 - T 300,000
SEHEY 2T dENY 200,000 0 200,000
401 AIEHILR ] 200,000 0 200,000
01 Al 199,280 0 199,280
OS=-NB2 2& SN 199,280
~A Al H b 3,000,000,0002 * 2.65% 79,500
SEL] 119,780
03 Al&SOHH| 720 0 720
OSZ-NB2 2 HBMY ALSHY
200,000,0002! * 0.36% 720
EHS-2AQIARY 25 ST H 200,000 0 200,000
401 AEHIYLS T 200,000 0 200,000
01 Al 198,560 0 198,560
OEN&-~2AQAR 258 - B 198,560
03 Al&SCHY| 1,440 0 1,440
OBfAM-~2QIAIZF 28 - T& AL
200,000,0002! * 0.72% 1,440
22 ReHENY UL HEE 950,000 0 950,000
401 AEHIL S0 950,000 0 950,000
01 Al 944,015 0 944,015
OLE PCHEMNY ¥ 2T F 944,015
03 Al& = CHY| 5,985 0 5,985
OAE ZSHEMY L HEF ALY
950,000,0002 * 0.63% 5,985
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